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Math Test - No Calculator

25 MINUTES, 20 QUESTIONS -

Turn to Section 3 of your answer sheet to answer the quastions in this section,

DIRECTIONS §

For questions 1-15, solve each problem, choose the best answer from the choices
pravided, ;ﬁd fillin the corresponding circle on your snswer sheet, For questions 16-20,
solve the prablem and enter your answer in the grid on the answer sheet. Please refer to
the directions before question 16 on how ta enter your answers in the grid.You may use
zny available space in your test booklet for scratch work.

 noTEs |

1. The use of a calculator is not permitted.

2. All variables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn te scale unless atherwise indicated,
4. All figures lie in a plane unless ctherwise indicated.

5. Unless otherwise indicated, the domain of a given function f is the set of all real numbers x for
which f(x) iz a real number.

w X
30°
x¥3
A=zt A=tw Special Right Triangles
C=2mr

w
&

V= fwin V = zrih V=§m-3

The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 2.
The surn of the measures in dearees of the angles of a triangle is 180.
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Jobs Completed in a Week

J .l
Worker | Lawns cut Cars | Newspapers|

washed | delivered
Wil 4 x 20
Demarius 3 8 35

The chart above shows the number of times that Will
and Demarius completed each of three jobsin a
week. Each worker was paid $20 for each lawn he
cut, 55 for each car he washed, and $2 for each
newspaper ke delivered. If Will and Demarius each
earned the same amount of money during the given
week by doing these three jobs, what is the value

of x 7

A) 9
B) 10
cy o1l
D) 12

Unauthorized copying or reuse of any part of this page i iliegal.
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Domestic bees make their honeycombs with rings of
hexagonal cells. The first ring of the honeycomh is
made with ¢ hexagonal cells, the second ring is made
with 12 hexagonal cells, and the third ring is made
with }8 hexagonal cells. If the number of hexagonal
cells the domestic bees make for each ring continues
in this linear pattern, which of the following
functions represents the number of hexagonal cells,
c(r), in ring r of the honeycomb?

A} clry=12r

B) cfr)=6r+12

C) eirj=6r=6

D) efr) =67

{3.63+3.011) + {544 - 5.227)

Which: f the following colrfplex numbers equals the
sum above?

A) 845-2211
B} 2.07 +8.23f
C) 9.07-221
D) 35.46 + 3532

-




Which of the follewing is the graph of y =

x| o

the xy-plane?
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[3}13 + %} - {;13 - l}

Which of the following is equivalent to the
expression above? )

B) Wl
C) n’-1
D) -1

A mugeum sells only thiee types of tickets: child,
adnlt, and senior tickets. On Friday, 340 tickets were
sold, of which 95 were child tickets. The number of
child tickets sold was more than the number of
senior tickets sold but less than the number of adult
tickets sald. What is the least possible number of
adult rickets sold on Friday?

A) 149
B) 151
C) 244
Dy 245




(x~6)*+y* =64

One equation in a system of equations is shown
above. The graph of the second equation (not
shown) is a vertical line in the xp-plane that crosses
the x-axis at (3,0). For both y-coordinates of the

solutions to the system of equations, what is the value

A manager at a toy store tracks the sales and profits
of two toys. Each unit of Toy A costs the store 812
and sells for $16. Each unit of Toy B costs the store
$6 and sells for §9. If the store sells a total of 23 ynits
between Toyv A and Toy B, what is the minimum
number of units of Toy A sold that would give the
store @ profit of at least $90 ? (Profit is total sales
minus total cost,)

A) 10
B) 15
C) 25
D) 30

Urzuthorzad copying of reuse of any part of this peoge is llegal.
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Which of the following equations has exactly one real
solution?

A) X -6x+9=0
B) x*=5x+6=0
C} ¥ e2x—1=0

D) P e3x-9=0

. L. . PR P
Which of the following is equivalent to R 2
X

A) x+1
B) x+6

8
Cy x+ .
) x5 e
i
5x

xX+32

D) ox+
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The population of 2 town was 34,000 in the .
year 2010. The function P{n} = 34,000{1.09)" can g P I
be used to estimate the population of the town ' e T

#n decades after 2010, What does the expression i g ‘-)f =/
P(n) - 34.000 represent? { : {

Nz

A) The population of the town 7 decades after 2010 L

B) The decrease in-the population of the town over P 1
the n decades after 2010 o _ :

C) Theincrease in the population of the town over LI L1911 ’ -
the n decades after 2010 ’ SR SR

D) The percent increase in the population of the In the xy-plane above, the graph of the function [ on
town over the » ggcades after 2010 the interval -7 £ x £ 6 is shown. For which of the
following values of ¢ is f{c—~4)=c ?

A)0
B} 1
) 3
D) 35

k)
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for-sfo-ei
y=ax-b In the function f defined above, a > 1. Which of the
A% following best represents the graph of f in the
[i The svstem of equations above has no solution ;Ljy—plana? :
- {x,¥). Which of the following could be the values
of 2 and b ? y
A) a=—,b=0
4
B) a= l b=1
4 -a 1}
X
C} a=-4,b=10
B by
o \//
(—a, a)
-
¥
2 [
—"E ' .“\-{
Which of the following is equivalent to {v@ + ~/&) \ T
where a>0and b>07¢
L3 E; ﬂ 1) T
A) {a+Dy _ x
s b
B} ¥Ya+b D)y
*
C) (a+2vab =b)° _
[ D) Ya+2ab=+b (ava)
:
.
[ R
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Answe Answer; 2.5 i
NP SRS
Writ !
For quaestions 16-20, solve the problem and gnrév\?e}_' 714112 21 .15
enter youranswer in the grid, as described in boxes. '\ T@A[ leFraction | (2D
below, on the answer sheet, OIOIOIG line OICI@IO)« Decimai
Ve ok
Q@|OI® O] "
1. Although not required, it is suggested that DO @OIDID g
 you write your answer in ‘the boxes at the top 2|2/2® @i e l?
of the columas to help you fill in the circles Gridin | |{DIICHS OISO '
accurately. You will receive credit only if the Ut ) @@ 3@ @IBI@|B
circles are filled in correctly, GIGIGIG ololel
2. Mark no more than one drcle in any colurmn, @ @& @ ® @ ® ®®
3. No question has agﬁ;ggarive answer, OGO D\DDID )
4. Some problems may have more than one ® BPB|® Eﬂ
correct answer. In such cases, grid only one OB®|C elole) e
answer, o ' _ —
5. Mixed numbers such as 3% must be gridded Acceptable ways to grid % are:
— ; y
3.5 or 7/2.(if {5111 Iz d into th i
as or/( Ihﬁiﬂlser'.ua*re into the ANIE %—366 G6lal7
grid, it will be interpreted as —,not 34 ) 9 o D D Jﬁ
2 £ QILICIQ) 1SCIOIC | @MOQIO e
6, Decimal answers: If you obtain a decimal OOIO DO @ OIGOIO)
answer with more digits than the grid can i T
accommoedats, it may be ejther rounded or 8 9 % % % % g % %g % g
truncated, but it must fill the entire grid. cleleie IBdad eedd
D)@ 1 GI@@ID @@E®
1@ IO PIGIGE \SEICIE
OIEEGE 1©0ee ©960
ololzlol, [Dldor alieiole
Answer: 201 - either pasition is correct
—l NOTE: You
l2]ol1 2101 may start your
DD DD answers in any
- - I .
oldoa lolaiclgl s
o o, @ O@t  columns you
@@ @ @@ @ (D don't need to
|@[s D@D [BDI@|@)] useshouidbe
e m [ L [eﬁ_‘ blank_
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ifl' Sw—12 = 3w Gemma bought 4 rosebushes and 3 azaleas. The

- . . : price of each rosebush was §7.50. Gemma's subtotal
M;hir :r alne of w is the solution of the equation i for the 4 rosebushes and the 3 azaleas was $46.50,

- avover . : before sales tax was added. What was the price, in

l% dollars, of each azalea before sales tax if the 3 azaleas

cach had the same price? (Disregard the § sign when
gridding your answer. For example, if your answer is
51.37, grid 1.37)

& 17
= 2 . 2
If a* - b* = 2] and a - b = 3, what is the value
FI ofa+h?
":;f_g .

TP

2
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? C P4y r2x-8y=8
. B . i The equation of a circle in the xy-plane is shown
\y above. What is the radios of the circle?
) : :

Note: Figure not drawn o scale,

‘ In the circle above, D is the center, AC isa
| diameter, and peint B lies on the circle, If AB= 2D,
what is the value of x 2 _

i

~ STOP
'1: If you finish before time is called, you may check your work on this section only.
| - Do not turn to any other section.

Unauthorized copying of reuse of any part of this page is ilegal. 40
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Math Test - Calculator
55 MINUTES, 38 QUESTIONS

Turn to Section 4 of your answer sheet to answer the questions in this section,

| BIRECTIONS

il

For questions 1-38, solve each probiem, choose the best answer from the choices
provided, and fill in the corresponding circle an your answer sheet. For questions 31-38,
salve the preblem and enter your answer in the grid on the answer sheet. Pleasa refer to
the directions before question 31 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

=,

u.':
1. The use of a calculator is permitted,
2. All variables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale tnless otherwise indicated.
4. All figures lie in 2 plane unless otherwise Indicated,

5. Unless otherwise indicated, the domain of a given function {is the set of all real numbers x for
which f(x) is a real number.

| REFERENCE |

£
. 1 2x S @
th b < o0 ¢
w |
= g 30°
b a% - - x3
A=nrt A=tw A= % bh F=at+ bt Special Right Triangles

C=2ar

7 W v W

V= fwh V= mrih CW=dgd V Fwh

i
Ui f—
&
1
ey
-c
il

The number of degrees of arc in a circle is 360.
The number of radians of arc in 2 circle is 2.
The sum of the meagures in degrees of the angles of z triangle is 180,

Unactharized copying or reuse of any part of this page is illsgal, 42
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Gold i Silver | Bronze | Total _
The sum of 3 and & is less than the
Canad 14 7 5 2 b
e ’ D 6 vroduct of 5 and 4.

Norway 9 3 6 25 -

South Korea | ~ 6 6 2 14 The statement above is equivalent to which of the
’ following ities?

Total 200 20| 1316 _ ollowing inequalities

A) 3<a+2b
The table above shows the number of gold, silver, B) 36<2+b
and bronze medals awarded to three of the countries -
that participated in the 2010 Olympic Winter C) a+3<2b
Games. Of the 63 medals awarded to these countries,

what fraction were silver? D) a+3>2b
A) E‘
3
1
B} -
’ 4
i
.CJ i
"1
D) 'ﬁ

e
e

i
s

S

L

=
Lo
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Total Distance Traveled versus Time

Distance {miles)
[aan)
l.‘n

Time (seconds)

Chris drove his car from his home to a traffic light,
stopped at the traffic light, and then continued to
drive. The distance Chris drove and the time since
Chris began to drive are shown in the graph above,
Which of the following best approximates the
number of seconds that Chris was stopped at the
trafficlight?
A} 10

"B) 20
C) 30

D) 40

\nauthorized copying ar reusa of any part of this page is iflegal,
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dx+ 3y =1t
3x+2y=7

Which ordered pair, (x, ¥). is the solution to the
system of equations above?

A) (5,-1)
B) (3,1)
Q) (1L,2)
D) {-1,5)
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If y=6x"+2x+8 and £=3x"+9x+ 5 whatlis

y+z intermsof x 7 -

A) 95 +11x+13
B} 18xY+ 18x+40

Q) 9xf« 11x7 413

D) 182t 5 18x% + 40

¥4

150
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A marketing executive plans to survey 300 potential If y is 3 less than twice x and y = 0, what is the
car buyers to determine which car feature customers value of x ?
value most. Which of the follewing sample groups is
most likely to represent all potential car buyers? 8 1
A) 300 first-time car buyers selected at random
- B) 300 patential car buyers selected at random B) 3
C) The first 300 first-time car buyers who enter a 2
certain car dealership . 5
D} The first 300 potential car buyers who enter a = 2
certain car dealership
D) 3
N
"
I i
Unauthorized copying or ieuse of any r.l\a:t u( this page is fllegal, B 46
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If y=35(2"), where x > 0, which of the following is
true?

——

ERRARE
PRI

A) If x increases by 1, then y doubles.
B) [f y increases by 1, then x doubles.
C) If x increases by 1, then ¥ increases by 3.

Dy If y increases by 1, then x increases by 5.

Ch _EE Unauthorized copying of reuse of any parl of this page is iliegai. ' A7
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The number of city residents, y, in Philadelphia from
1980 to 2000 can be modeled by the linear equation
y=—8,333x + 1,688,210, where x is the number of

vears aiter 1980, What does the number 8,533
represent?

A) The percent of city residents leaving Philadelphia
after 1980 ' :
B) The ratio of the number of city residents

remaining in Philadelphia to the number of
vears since 1980

C) The number of city residents remaining in
Philadelphia in 2000

D) The average decrease in the nnmber of city
residents of Philadelphia each year from
1980 to 2000

>
42
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Questions 11-13 refer to tha following information.

Atregular checlcups, 2 pediatrician measures Anne’s
height and weight and reports each as a percentile for her
age. For example, when Anne was 24 months old, her
weight percentile of 65 indicated that 65% of children
that age were at or below Anne’s weight, Anne's results
for 6 checkups are shown below, :

Checkup age | Height percentile | Weight percentile
1 month 40 35
3 months 45 45
6 months 53 i 50

12 months 60 i 55

18 months | CEN 53

24 months | 50 65

'

What is Anne's median height percentile for these
6 checkups? '

A) 50.8
B) 3
C) s

5

D)

Unautherized copying or revse of any part of this page s il ena!,
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If p represents the height percentile value reported
for Anne during the 6 clieckups, which of the
following is true?

A) |pls10

B) |[p-10}<5
C) [p-40]< 10
D) [p-30|<10

Which of the following values is larger for the weight
percentile data than for the height percentile data?

A) Mean ) Lf‘j
B) Median :
C) Mode
D) Range

=
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! o

. Which of the following is  value of x The points {~3.0}, (1,0}, and (2,0) all lie in the
that satisfies 6 + 5x = {2 - 3x)* but does not : xy-plane on the graph of the polynomial function f.
satisfy VETSx =2 3 2 — : Which of the following could define f7

A) fla) = (x+1)(x=2)(x-3)
B) flx)={x+1}{(x-2)(x+3)
3 1 - C) flx) ={x-1j{x+2){x+3)
DY flx)=(x-1)(x—2}(x+3)

1
C) —;
by -2

LT
¥

& - | | 154
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Questions 16-18 refer to the following information, Which of the following displays the graph of the
p=0Rt:S ': vertical speed, in meters per second (m/s), of the
' skydiver based on the number of seconds after the

. , , i ?
The equation above nindels the vertical speed v, in fump began

meters per secend, of a skydiver ¢ seconds after jumping A @
down out of an airplune, where the effect of air resistance ! E 157
has been Ignored. z |
2 10
’ : 5
i H 22 I
z ]
.| ) : N IE : L
0 05 1.0
Time {seconds}
"\_’.’
i B s ..
E 155
. 8 10+
. . = |
S 57
T
&
-~ 0 : -
0 - 05 1.0
Time (seconds)
" . C <
o
I et
&
=
w ¥
"T‘j H
= f
g %
= 0% : ;
0 0.5 1.0
Time (seconds)
D) ¥
=
3
B4
[
L]
=
; o
I 5
I. . > D T . ;
1 - _ D05 10
Time (seconds)
:
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Which of the fellowing equations can be used to find
the pumber of seconds, ¢, after jumnping at which the
skydiver's vertical speed is v meters per secand?

A) t= =5
T
B) t=5-—
Y
v-5
C =73
S—v
i=
D) 28

Which of the following describes the meaning of the
number 3 in the equation v =98 + 57

A} The starting position of the sleydiver

B) The initial vertical speed of the skydiver

C) The acceleration of the skydiver

D) The number of meters the skydiver travels each
second

Unsuthorized copying of reuse of any part of this page is Ulegai
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Gas Mileage verstis

Weight of Fourteen Cars
56—
-
= 40 —
= e
g %30 em—
E ::3 S
:’;: ﬁ 20 [ el
<10
2000 2500 3000 3,500 4,000
Weight of car {pounds)

The scatterplot above shows the weight and gas
mileage of fourteen cars. Which of the following can
be concluded from the data in the scatterplot?

A) Ifthe weight of car A is greater than the weight
of car B, then the gas mileaae of car A is greater
than the gas mileage of car B

B) If the weight of car A is greater than the gas
mileage of car B, then the gas mileage of car A is
less than the gas mileage of car B,

C) A line of best fit for the data has a positive slope.
D) A'line of best fit for the data has a negative slope.
L




|

: x
In the xy-plane above, what is the value of 2 ?
A) 6
B) 45
O 4
D) 3

Unautherized copying or reuse of any part of this page 15 Blegal,
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& random sample of 100 Poprorn Haven consumers
was selected to taste Popcorn Haven's new caramel
and chocolate covered popcorn. Of these constemers,
95 disliked the taste of the new popcorn Havor.
Which of the following {s the best inference to make
from the resuits?

A}

B}

C}

D)

It is likelv that most people who have never eaten
Popcorn Haven popcorn would enjoy the new
popcorn flaver.

It is lilcely that most people who have eaten
Papcorn Haven popeorn would dislike the new
popcotn flavor. i

On average, 95% of all popcorn eaters would
dislike the new popeorn flavor.

Of all the Popcorn Haven popcorn eaters, exactly
95% of them would dislike the new popcorn
flaver,
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j:‘- =
E._.! .
L’- h h) Water flows from a lake 2t a constant rate. Which of
: 30 490 . the following statements correctly describes the type
20 980 of function that would best model the total amount
10 1 1.470 of water that has flowed from the lale?
1,960 A) Exponential growth, because the total amount of
water that has flowed is increasing by the same
The table above shows several values of the function amount each second
kfor 0 £ h < 30. Of the following, which equation B) Exponential growth, because the total amount of
could define the function k ? water that has flowed is increasing by the same
percentage each second
A) kih) = gh C) Increasing linear, because the total amount of
. : water that has flowed is increasing by the same
49 amount each second '
B) k(hj= B.ah_ D) Increasing linear, because the total amount of
water that has flowed is increasing by the same
Q) kik) = 1,960 - 49h percentage each second
Vi) =4, B :
D) k(h)=1,960 — 490h
T ~
e
1
Pl |
Fo
-
I
5
)
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Years of Experience and Average
y Typing Speed for 12 Typists
TR Lol
s
B S :
2w p S TR S liots Wi :
=2 3= TS s s i
— 2 40 e
% ===
' T EE % ==
- - S5 —
The diagram above is for 2 zip line that is being &= 20 i amprme.
designed for an amusement park. The higher end of g T St S s
the zip line will be attahed to a pole at a point 27 feet £ =10 e e e e
above the ground. The lower end of the zip line s S e B
will be attached to a second pole ata poinz 7 feet (- — ——
above the ground. How far apert, in feet, will the 0'1 2345678 81011

two poles be?

- Years of experience

x

A) 2043 OF the following equarions, which best models the
= line of best fit for the data in the scatterplot above?

B) 2045 . .
) 20 : A) y=425x
Dy 40 B) y=425x+14

' C) y=825x

- : D) y=825x+4

%
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[ A radioactive substance decays by approximately the Arlene is a clothing store manager and she set the
same percentage each year, A function of which of
the following forms best models the amount,in
milligrams, y, of the substance remaining x vears o )
from now, where m and p zre positive constants? by x dollars, where x can be positive or negative,
she will sell 120 = 3x pairs of jeans a weel, for a total

price for a pair of jeans at $40 and is selting 120 pairs
each week. She estimates that if she changes the price

A =

B) 4 _pz.: of (40 + x)(120 - 3x) dollars in sales. According to
Y y=prom ‘ . her estimate, what will result in the greatest value of

C y={+p’ sales?

D) y=m(l-p)* - A) Decreasing the price by $2.50

B) Decreasing the price by $1.50
C) Leaving the price unchanged

D} Increasing the prics by $2.00-

in the xy-plane, the line with equadon x — 2y =6 is
reflected across the y-axis, Which of the following is
an equation of the reflected line?

B} y=-2x-3 ® “
CJy=—%x-3

Unauthonzed copying or reuse of any part of this page i illegal. ) 55



29 . .
Opinions on the Proposal A stock increased in value by 7% on Wednesday and
: then decreased in value by 4% on Thursday. What
o | Ao Undoded | ot | | bt nerein o ecte
District 1 | 108 | 135 . 2= of the day on Thursday?
District 2 | 140 175 .35 350 A 272%
! ! By 2.38%
i } l sio; | 62 | s C) 3.00%
} D) 3.28%

The table above shows the results of a poll that was
used to determine support for a town proposal. The
results are categorized by the district a respondent
lives in and by opinion, One of the respondents is to
be selected at randoni=Based on the table, which of
the following stazements is false?

A} The probability that the respondent is from
district 2 is greater than %
B) The probability that the respondent is against the
, 1
proposalis equal to .

C) The probability thar the respondent is an

1
undecided resident of district 1 is less than 20

L
LI

D) The prebability that the respondent is frem

R

district 2 is dependent on whether or not the

respondent is for the proposal.

Urauthorized copying of reusa of any part of this page is iliegal. ;- - o 56
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[ o _ Answer: 75 Answer: 2.5
Writ i
For questions 31-38, solve the problem and gnrs[nﬁe?" VAR i 1i2 2,.15
enter your answer in the grid, as described in boxes. @|()| |« Fraction AID
below, on the answer sheet. QIOIOID line OO O« Decimal
| | OOl Q@@ P
1. Although notrequired, it is suggested that O\D|SID DD
’ you write your answer in the boxes at the top eelie Qe @ @
of the calumns to help you fill in the circles Gridin | {OIIO|G OISIENE
accurately, You will receive credit only if the resuit. @@ @B
circles are filled in correctly. Sele)le) SiSIEn&
2. Mark no more than one circle in any column. ®| BB ®IERIE
3. No question has a negative answer. @20 DD
4. Some problems may have more than one ®® BI®IB®IB
correct answer. In such cases, grid only one ol BIOIGE
[ answer. . -
'_ﬁr;'! " 5. Mixed numbers such as 3% must be gridded Acceptable ways 1o grid % are:
_ as 3.5 or 7/2.(If 3;&%}2 is entered into the ol iz G 6le 6lel7
arid, it will be interpreted as A not 31 ) D@ DD 00
2 QIO B0 1@ OIOIO
i 6. Decimal answers: If you gbtain a decimal OIS OO @I
4 answer with more digits than the grid can M 1 7 7
- accommodate, it may be either rounded or g g \é) % g g % % % % % g
truncated, but it must fill the entire grid.
DBS BP0 DS
BISBIB] [ DGE|P) -1 DDOGE
CIOE|C! IBIBIGE GIRIGI®
®® ®E @& C©ee®
H DRI Do Pieinie
Answer: 207 - either pos‘ltio.n is correct
NOTE: You
) 2101 2101 may start your
DD G0, answers in any
- lumn,
QOO QOO0 omiting.
O|@l® & 00O columns you
[ DOITID| @ DD @D dontneedto
o D@D BITIDD! useshould be
o S left Blank.
B - _ 162

Unzuthotized copying or reuse of dny pent of this paae is llecal. i S 57

——



4.

1palin =4 fingers
i royal cubit =7 palms

The equations above give the relationships betwesn
some ancient Egyptian units of length, A length of
28 fingers is equivalent to how many roval cubits?

I
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32

Price of Lunch Specials

Monday -~ 510.00 é’ _ §

Tuesday - 512.00

Wednesday - $8.00

§
Thursday - $10.00 g
Friday - $9.00 @

Based on the menu above, by how much does the
price, in dollars, of the hanch special on Tuesday
exceed the average (arithmetic mean) price of the
lunch special for the 5 days shown? (Disregard the
$ sign when gridding your answer. For <xample, if
vour answer is $1.37, grid 1.37)

1%}

163




4

The square of n is equal to the sum of twice 7 and
24. If 5 is positive, what is the valueof n ?

Unauthorized copying or reuse of any part of {lus page Is liegal.
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4

* Arectangular park has side lengthis of 150 vards and
360 vatrds. Sylvia and Amber both walk from one
corner to the opposite corner, but Sylvia walks 2long
the rectangular edges of the park and Amber walks
along the diagonal. How many more yards does
Svlvia walk than Amber?




35

Linda has $§7 more than twice the amount of meney
Curtis has. If they have no more than $100
combined., what is the maxirnum number of dollars
that Curtis could have? {Disregard the $ sign when
gridding your answer.}

A
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When Michael swims he burns 9 calories per minute,
and when he walks he burns 4 calories per minute. 1f
Michaei spends a total of 4 hours walking and
swimming and burns a total of 1600 calories, how
many minutes did he spend walking?

165
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M 37

Questions 37 and 38 refer to the following

What is the difference in the percent of silt in the

information. pitcher's mound mixture and the percent of silt in
7 o o the infield mixture? (Ignore the percent sign when
- A combination of clay, sand, and silt is often used to gridding your answer. For example, if your answer is
= create parts of 2 baseball field. An infleld mixture is used 35%, grid 35) '

to construct the infield, baselines, and home plate area.
A different mixture is sometimes used to construct the
pitcher's mound. A comrmunity recreation department is
constructing a new baseball field nsing dirt mixtures in
the volume ratios shown in the tables below.

Infield Mixture
" {Infield, Baseiines, and Home Plate Area)
Sand to clay 3:1 ’
Sand te silt 3:1 . . o .
Clay 0 silt 1:1 . A pitcher’s mound is being built with 1.6 cubic

meters of clay. What is the tatal volume, in cubic
meters, of the materials in the mixture for the

Pitcher's Mound Mixture pitcher’s mound?

Sand to clay 2:1
Sand fo silt 1:1
Clav o silt 1:2

’_

&3

i

rm)

pitcher’s mound

baseline

home plate area

[ STOP
[ . )
If you finish before time is called, you may check your work on this section only.
& _ Do not turn to'any other section.
[
[..';{ - . .
L _ 166
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